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P EEL 5. 0%

4

5.0

4.0 1

3.0 1

2.0 1

1.0 1

S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsEW-1FV24]

% =« EL2. 700m — BEARLEANT MV (EVEM)
Wiw4 « HYEMEES s 0 oo FEHRINEZ 7 ML (EWAHM)

0.40 0.50 0.60 0.70 0.80 0.90 1.00

BWoA A (s)
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S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsV-1FV1]

HEEA - 1 N T g L F RS = EL19. 400m~EL14. 700m — WEHHARIEEAT MV ($hEH W)
R ES 0. 5% W4 REEHS s 0000 - FEFHARIGE A7 RV (BNE ST 1)
25.0
20.0 A 1
B 15.0 |
o001 -
5.0 A
0.0

0.00 0.10 0.20 0.30 0.40 0.50 0.60 0.70 0.80 0.90 1.00

BWoA A (s)
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S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsV-1FV2]

WML BB 1N N7 o L Z RSN FE& - EL19. 400m~EL14. 700m — BREAFRISE A7 bV GREHH)
BT 1.0% Wiw4 « HYEMEES s 0 oo RETHRSZE 227 MV (BhiE 7))
10.0
8.0 + B
B 6.0 1
4.0
2.0 1
0.0

0.00 0.10 0.20 0.30 0.40 0.50 0.60 0.70 0.80 0.90 1.00

BWoA A (s)
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S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsV-1FV3]
WML BB 1N N7 o L Z RSN = EL19. 400m~EL14. 700m

REHHIRIGE A2 BV T (80
WEER ;1.5

[EL 5 1))
W4 o EREMEHS s 0000 - PREFHARIGE A7 FVID (SRE M)
10.0 ; ; ; ; .
8.0 - 1
B 6.0 ' ]
B 4.0 1
2.0 1
0.0 ; . .
0.00  0.10 0.20  0.30  0.40

0.50  0.60  0.70
WA A B (s)

0.80 0.90 1.00
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S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsV-1FV4]

J7 1)

WML BB 1N N7 o L Z RSN = EL19. 400m~EL14. 700m — BREHARNEARZ V] $hE
YELJF 7))

PR TERL : 2. 0% B4 - FEEHEEIS s oo FEHHRIEEARY MV (81

10.0

8.0 1 4

4.0

2.0 1

0.0 t t t t f t t t t
0.00 0.10 0.20 0.30 0.40 0.50 0.60 0.70 0.80 0.90 1.00

BWoA A (s)
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S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsV-1FV5]
WML BB 1N N7 o L Z RSN = EL19. 400m~EL14. 700m — BREAFRISE A7 bV GREHH)
BT 2.5% Wiw4 « HYEMEES s 0 oo RETHRSZE 227 MV (BhiE 7))

10.0 t t + t + t
8.0 + E
X 6.0 ‘-l i
B 4.0 '
2.0 1
0.0 t t t t }
0.00 0.10 0.20 0.30 0. 40 0.50 0.60 0.70

0.80  0.90  1.00
WA A B (s)
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(L SCL/E A B R NP g s T ]

[NS2-1FV-SsV-1FV6]
= EL19. 400m~EL14. 700m — BREAFRISE A7 bV GREHH)
BEEEE ;3. 0% Wiw4 « HYEMEES s 0 oo RETHRSZE 227 MV (BhiE 7))
10.0
8.0 - |
W 6.0 i |
4.0 | 1
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0.00 0.10 0.20 0.30  0.40 0.50 0.60  0.70
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(L SCL/E A B R NP g s T ]

[NS2-1FV-SsV-1FV7]
= EL19. 400m~EL14. 700m — BREAFRISE A7 bV GREHH)
BT : 4. 0% Wiw4 « HYEMEES s 0 oo RETHRSZE 227 MV (BhiE 7))
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8.0 - |
W 6.0 1
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1.00
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[NS2-1FV-SsV-1FV8]

WML BB 1N N7 o L Z RSN = - EL19. 400m~EL14. 700m — REAERNEAZ VT (BEJTH)
BEEEE 5. 0% Wiw4 « HYEMEES s 0 oo RETHRSZE 227 MV (BhiE 7))
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[NS2-1FV-SsV-1FV9]
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S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsV-1FV12]

WML BB 1N N7 o L Z RSN = - EL8. 800m~EL7. 600m — BREAFRISE A7 bV GREHH)
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S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsV-1FV13]

WML BB 1N N7 o L Z RSN FE5 - EL8. 800m~EL7. 600m — BREAFRISE A7 bV GREHH)
BT : 2. 5% Wiw4 « HYEMEES s 0 oo FJEHRISE AR RV (BRE S5 )
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1.0 1
0.0
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[NS2-1FV-SsV-1FV14]

WML BB 1N N7 o L Z RSN = - EL8. 800m~EL7. 600m — BREAFRISE A7 bV GREHH)
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S2 f#fi VI-2-%i¥s 7-2-1 RO

[NS2-1FV-SsV-1FVv20]
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8.0 - |
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S2 f#fi VI-2-%i¥s 7-2-1 RO
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[NS2-1FV-SsV-1FVv24]

WML BB 1N N7 o L Z RSN = - EL2. 700m — REAERNEAZ VT (BEJTH)
BEEEE 5. 0% Wiw4 « HYEMEES s 0 oo FJEHRISE AR RV (BRE S5 )
5.0
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W 3.0
2.0
1.0
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F4.2-2 WEIPTHRIGEAXZ Fv (Ss) —HEHEK
KRR AR KR AR > T #iE)  (1/3)
B | 5 i S & T EL(m = BES
0.5 NS2 FLSR SsNS - FLSR 1
1.0 NS2 FLSR SsNS - FLSR 2
1.5 NS2 FLSR SsNS - FLSR 3
2.0 NS2 FLSR SsNS - FLSR 4
2042 18.300 2.5 NS2 FLSR SsNS - FLSR 5
3.0 NS2 FLSR SsNS - FLSR 6
4.0 NS2 FLSR SsNS - FLSR 7
5.0 NS2 FLSR SsNS - FLSR 8
0.5 NS2 FLSR SsNS - FLSR 9
1.0 NS2 FLSR SsNS - FLSR 10
1.5 NS2 FLSR SsNS - FLSR 11
1931 k=), 14,700 2.0 NS2 FLSR SsNS FLSR 12
1946, 2121 (R > 7=) ) 2.5 NS2 FLSR SsNS - FLSR 13
3.0 NS2 FLSR SsNS - FLSR 14
_ 4.0 NS2 FLSR SsNS - FLSR 15
71};&@@%@:\ NS 5.0 NS2 FLSR SsNS - FLSR 16
A= E Y Fir
Ao f 0.5 NS2 FLSR SsNS - FLSR 17
1.0 NS2 FLSR SsNS - FLSR 18
1.5 NS2 FLSR SsNS - FLSR 19
1939 k=), 8. 200 2.0 NS2 FLSR SsNS FLSR 20
1954 (R > 775) ’ 2.5 NS2 FLSR SsNS - FLSR 21
3.0 NS2 FLSR SsNS - FLSR 22
4.0 NS2 FLSR SsNS - FLSR 23
5.0 NS2 FLSR SsNS - FLSR 24
0.5 NS2 FLSR SsNS - FLSR 25
1.0 NS2 FLSR SsNS - FLSR 26
1.5 NS2 FLSR SsNS - FLSR 27
1949, 2189 (k=) , 0. 700 2.0 NS2 FLSR SsNS FLSR 28
1964 (AR > 7°=) : 2.5 NS2 FLSR SsNS FLSR 29
3.0 NS2 FLSR SsNS - FLSR 30
4.0 NS2 FLSR SsNS - FLSR 31
5.0 NS2 FLSR SsNS - FLSR 32

S2 fifi VI-2-BI#s 7-2-1 RO
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#F4.2—2 FTHARIEEAXRTZ b (Ss) —ER
(R E R ISR E AR o TR AR ) (2/3)
R el ains J31A) il kea i EL(m) | 8= e (%) X%
0.5 NS2 FLSR SsEW FLSR 1
1.0 NS2 FLSR SsEW FLSR 2
1.5 NS2 FLSR SsEW FLSR 3
2.0 NS2 FLSR SsEW FLSR 4
2743 18. 300 2.5 NS2 FLSR SsEW FLSR 5
3.0 NS2 FLSR SsEW FLSR 6
4.0 NS2 FLSR SsEW FLSR 7
5.0 NS2 FLSR SsEW FLSR 8
0.5 NS2 FLSR SsEW FLSR 9
1.0 NS2 FLSR SsEW FLSR 10
1.5 NS2 FLSR SsEW FLSR 11
2.0 NS2 FLSR SsEW FLSR 12
2391, 2751 14.700 2.5 NS2 FLSR SsEW FLSR 13
3.0 NS2 FLSR SsEW FLSR 14
= 4.0 NS2 FLSR SsEW FLSR 15
S s {f‘ig:gfﬂ?j/ EW 5.0 NS2 FLSR SsEW FLSR 16
> f g J7 1) 0.5 NS2 FLSR SsEW FLSR 17
1.0 NS2 FLSR SsEW FLSR 18
1.5 NS2 FLSR SsEW FLSR 19
2.0 NS2 FLSR SsEW FLSR 20
2404 8.200 2.5 NS2 FLSR SsEW FLSR 21
3.0 NS2 FLSR SsEW FLSR 22
4.0 NS2 FLSR SsEW FLSR 23
5.0 NS2 FLSR SsEW FLSR 24
0.5 NS2 FLSR SsEW FLSR 25
1.0 NS2 FLSR SsEW FLSR 26
1.5 NS2 FLSR SsEW FLSR 27
2.0 NS2 FLSR SsEW FLSR 28
2413, 2777, 3472 0.700 2.5 NS2 FLSR SsEW FLSR 29
3.0 NS2 FLSR SsEW FLSR 30
4.0 NS2 FLSR SsEW FLSR 31
5.0 NS2 FLSR SsEW FLSR 32
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MR | EpEEER | A i T EL(m) | P84k (%) &
0.5 NS2 FLSR SsV FLSR 1
1.0 NS2 FLSR SsV FLSR 2
1.5 NS2 FLSR SsV FLSR 3
2042 (R 7=E), 18, 300 2.0 NS2 FLSR SsV FLSR 4
2743 (W) ‘ 2.5 NS2 FLSR SsV FLSR 5
3.0 NS2 FLSR SsV FLSR 6
4.0 NS2 FLSR SsV FLSR 7
5.0 NS2 FLSR SsV FLSR 8
0.5 NS2 FLSR SsV FLSR 9
1.0 NS2 FLSR SsV FLSR 10
1931 k), 1.5 NS2 FLSR SsV FLSR 11
1946, 2121 (B 7'=), 14. 700 2.0 NS? ILSR SsV FLSR 12
9397, 9751 (BN ) 2.5 NS2 FLSR SsV FLSR 13
3.0 NS2 FLSR SsV FLSR 14
. 4.0 NS2 FLSR SsV FLSR 15
@’Iﬁ%kp AT 5.0 NS2 FLSR SsV FLSR 16
Ss | REREAKR i

> b If1] 0.5 NS2 FLSR SsV FLSR 17
1.0 NS2 FLSR SsV FLSR 18
1.5 NS2 FLSR SsV FLSR 19
1939 (7J<§L 2.0 NS2 FLSR SsV FLSR 20

1954 (R 7)), 8. 200 - -
2404 (EWIFTE) 2.5 NS2 FLSR SsV FLSR 21
3.0 NS2 FLSR SsV FLSR 22
4.0 NS2 FLSR SsV FLSR 23
5.0 NS2 FLSR SsV FLSR 24
0.5 NS2 FLSR SsV FLSR 25
1.0 NS2 FLSR SsV FLSR 26
= 1.5 NS2 FLSR SsV FLSR 27
1949, 2189 Ok %), 2.0 NS2 - FLSR - SsV_ - FLSR 28

1964 (B v 7)), 0. 700

2413, 2777, 3472 (EWHTifi) 2.5 NS2 LLSR SsV FLSR 29
3.0 NS2 FLSR SsV FLSR 30
4.0 NS2 FLSR SsV FLSR 31
5.0 NS2 FLSR SsV FLSR 32
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